JWP-15B Extension Table

Product Images

//////
https://jpw-catalog-gqa-b2c-5.corevist.cloud/jwp015b-extension-table



https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp015b-extension-table

Description

Extension Table, Sheet Metal -
Parts List

:\?:r?::)er Part Number
JWP15B-SETA

1 JWP15B-601

2 JWP15B-602

3 JWP15B-603

5 JWP15B-605

6 TS-1504031

TS-152707

Extension Table, Cast Iron -
Parts List

w:;):oer Part Number
JWP15BHH-CETA

7 JWP15BHH-607

8 TS-1524051

9 TS-1490041

Additional Information

Description Size

Steel Extension Table Assembly (#1 thru #3)

Steel Extension Table

Support

Torx Head Screw M6-1.0Px12
Main Table

Socket Head Cap Screw M8-1.25Px16
Allen Wrench (not shown) 6mm
Description Size

Cast Iron Extension Table Assembly (#7 thru #9)

Cast Iron Extension Table

Set Screw M8-1.25Px20
Hex Cap Screw M8-1.25Px25

Qty

Qty

Stock Number

Products in this set

722150-6

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp015b-extension-table

713125


https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp015b-extension-table

